Equivalence of Half
and Two Quarters

Year 2 - Spring Block 4 — Fractions
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Infroduction

Identify what fractions are shaded in the shapes below.
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Infroduction

Identify what fractions are shaded in the shapes below.
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Vqrie Fluency 1

Circle % of the ice-creams.

AAAAAAL

Circle 2 of the ice-creams.
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Varied Fluency 1

Circle 1 of the ice-creams.
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Varied Fluency 2

Match the shapes to their equivalent fraction.




Varied Fluency 2

Match the shapes to their equivalent fraction.




Varied Fluency 3

True or false? r

1 of 20cm is the same as 2 of 20cm.
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Varied Fluency 3

True or false? r

1 of 20cm is the same as 2 of 20cm.
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Varied Fluency 4

Use the counters to complete the statements. E
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Varied Fluency 4

Use the counters to complete the statements. E
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Problem Solving 1

Jasper has a bag of 10 marbles. He gives % of them to his brother, [
Eli.

| Eli has a bag of 12 marbles. He gives % of them to his brother.

Who receives the most?
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Problem Solving 1

Jasper has a bag of 10 marbles. He gives % of them to his brother,
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Eli has a bag of 12 marbles. He gives % of them to his brother.

Who receives the most?

N
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Jasper receives the most. He gets 6 marbles, Eli gets 5 marbles.
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Reasoning 1

Find the odd one out.
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Explain your answer.




Reasoning 1

Find the odd one out.

xplain your answer.
he carrots are the odd one out because...
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Reasoning 1

Find the odd one out.

Explain your answer.

The carrots are the odd one out because it shows %. The rest are

| equivalent to %.
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Reasoning 2

Meera and Jay are looking at equivalent fractions. 5
| / \ m

The circles do not
have equivalent

fractions shaded.

Meera says,

The circles do have
equivalent fractions
shaded.

Who is correct? Explain your answer.
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Meera says,

Meera and Jay are looking at equivalent fractions. 5
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Reasoning 2
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The circles do not
have equivalent

fractions shaded.

The circles do have
equivalent fractions
shaded.

Who is correct? Explain your answer.

Jay is correct because...

CLASSROON =27
XN Mg A a
© Classroom Secrets Limited 2019




Reasoning 2

Meera and Jay are looking at equivalent fractions. i
| / \ m

The circles do not
have equivalent

fractions shaded.

Meera says,

The circles do have
equivalent fractions
shaded.

Who is correct? Explain your answer.

Jay is correct because % and %

are equivalent fractions.
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